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l.  Inthe followwng real numbers. which one |
decimal expansion

§ nﬂn-lcnmmuug repcaling

ey TR SR @R ey (PaefE 0T

s TH T 00T ($AD WS (TR fAE W !

(a) \ﬁ

4
(cd 3

(d) 138

Find the cormroct answer -

1nﬁ'iu

(a) annicger

"

(b) a rauonal number
(¢) apnme number

(d) animrstional number

ax S3Th W SAed
7B

(a) EYOo ==
(b) *A=T =M
(c) s =
KC IRy T

B15-GM (EN/AS/BN) (New)




T BUaD @ A ;
7 2ol

{a) Qs

(b) =fzewm sam
(c) offe= sn
(d) TWHIY T

1. Sum of the zeros of the cubic polynomial 1
Pix) =357 — 5% - Ly =375

Pix) = 333 = 5 - 11x — 3 Torwis T=em (7 T Q4 CTHT T3

Frgie @5om T Px) = 2 — 5xd — 11x =3 03 FHIof=R CeE =04

@ 9
(b) 11
() 3

@ 3

4 Under what condition, roots of the quadratic equation x* + pv + q = 0wl
be rcal and unequal ?

fr 56 RS ST 12+ pr+ q = 0 T [ {51 ST WE ITHE TI 2

3 wod e wfEEt 2+ pr + =0 9% [ T8 IR AT IHEE R Y
(ay p°-4q=0
(b) p*-4q<0
o) p*-4q>0
) pf=4q20
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5. Ifthe sides of mo similar triangles are in the ratio 4 . then the arcis of

trnangles arc in the rauo

o 4B =y Frgee wr WS 4 - 9 ooy Py gora I ST gt

0 =1 frgrer o5z =g o 4 9w wne Frye 4f3e @i 93T T
(a) 2:)

(b) 4 9

(c) 81 16

lé) 16 - K1
6.  Dwuntance between the pomnts (1, O) and (—1.0) 1

(1, 0) 3% (-1, 0) 7eq {FT¢ 5164 §43 TF -

(1. 0) 27 (-1, 0) B <f537 sy @17 3

(a) O

by 2
() 1
(d) 2

If the angle of elevation of the sun is 45°, then the ratio between the tower

and its shadow s

tfs sfa $¥3 @M 45°, cornrH a5 §¥ I+ O §FF T10 0

off s Safs @ 45° oA 23 53 A 2% v W W
{(ay 1:1
(by 1:2
(c) \E'l
(d) 1:43
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8. Areaof a sector of angle Plin degrees) of a oircle with radius R s

R T8 §& 1 {34 PTeds) ovrd 2B gaoerd offd ©A

R Im=d yo 28% oo P corore ol qsam 31 e

I'l
(a) Tk 2R

P g

r
(c) J60 © xR

(9 3'2'-““' 2nR?

9. The wickets taken by a bowler in 10 Cricket matches are as follows

. 6 4 5 0 3 1 3 2 ]
Mode of the data s

ATH T 1) v= B0ed orens vt o) SEZABA WEn OF S R v

2 & 4 5 O 3 v 3 2 1
oeffefsa s e

10 % B2} (qeTy 2359 (@AET YA 39 SahT e e

2 6 4 5 0 3 1 3 2 3
TTTRe TTO UL

2 1
(b)
ey 3
(dr 3

-4
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10. Adieis thrown once. the probability of getting a pnme number 13

951 *TM awmy w7 «Brre s s corary sy fem o'w

STFD TN 23T =TTOM A TS e marT swfEet ae

|
(a) 6
5
(b) 6
1
de) 3
1
(d) 3

1 + tan’0

. Theulutnfl_cﬂzﬂu

I = 1an0

—{TAY

I---i:.wl:»l-\\:.l"l J

| - tan"0

————— 27 A R

1 + cot-B .

(a) sec’@®

(b) -I

(c) cot’B

(d) tan'd
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12. Three metallic spheres of radii 6@ em. 8 cm and 10 cm respectively are
melted to farm a wingle solid sphere. The radius of the resulung sphere 1
6. 8 ol o 10 k. T B oo o= TerE 93 AgA oo
TN T IS | AT (MEEEE AHE £
6 1, & (i Az 10 iR eola TRl arge omers wfe 93l {OA oo
Tl F0 RFC | T oTEd o A
(ay 12 em (CEF) (56
(b) 24 e (CEf) (4
(c} 48 cm (GBS (&

(dy 480 em (&R (ofR)
Section—B

13. Using Euclid’s division lemma. show that any posinve odd imteger 15 of the
form 4y + | or 4g + 3 where q 1s some integer.

F3lud floren Ao dravs 3l oo U TR Qs WY WYa
TR 4g+ | TR 4 4 3 S TE g @A 431 SO S
20T Ruroa «foat 9w T@ Gy 7, 7 (SR QTS arg s e 4g+ 1
3 4q + 3 aiae OUTH q AFH Wy mAm
14.  Which term of the Arithmetic Progression -
3,8 13,18, .. vveeennn.. 18787
38,13, 18, o0 1nn oo, ST ATGLETY @TRLE o5 78 2
1,8, 1018, e, FTER BTG 1R #RTE 787
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15,

6.

17.

Find the coordinates of the point which divides the line segment joining the

points (=1, Tyand (4, =3) in the ratio 2 : 3

(1. 7)Y =T (4, -3) faq Sm® @uroF 2 ¢ 3 ST @' s@ feiie YERT
fasta =41 )

(-1.7) AT (4. -3) feg om® a1 xafies 2 ;3 Apns faes aa fsia

vanas fAfg 3

Evaluate .
yR At a7 -

51 Fefy o -

5 cos 607 = 4 sec>30° - tan’45°
sin?30° + cos*30°

If A. B and C are interior angles of a triangle ABC. then show that

- -

il

1% A. B &% C @14 @351 ABC fago =311 &0, (503 (yadl (1 -

. B=C A
.ﬂn1~ 35— )=cos 3.

ufs ABC fogt&? WSM o A, B 4% C 11 O3 (%19 (@,

_ [a+c]ﬁ A
s1n 7 "'l:ﬂ‘!l-z.
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19,

2.

21.

A box contains 3 blue, 2 white and 4 red marbles, 11 a marble is drawn al
random from the hox, what is the probability that it will be white ?

B TES 3B S, 25 2l e 4 a8 N T | s OB S ThfRauT
wAT B, (S0 CRALT 9+ (irerd satfaet [ 7

2af g 3 B, 2R s oz 4 B At W ance | o anfies o 2ol
Wtde (4 T &L o4 5D H9 1ara s § °

Prove that :

ot h e B T i I

ek -0 I VA

(sin A + cosec AR (203 A+ sec AP = 7 + tan’A + corA

Section—=C

Divide 3x! — x — 3x = S by x — | - v~ and verify the division algorithm.

-l @ N - -3 T e ETER ol wonea 214 |

12 3+ 5@ r - |- TR W AT Fered el SontE w4
For which values of p does the pair of eguations given below has unique
solution 7

piﬁrqmmw&mﬁm:rﬁmmamaﬁmmmmf

pzﬂmw-m:ﬁmﬁmmﬁwﬁ@ﬁwmr
4;#-‘1:,-!3"“
Du+2y+2=0
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22. Fj
Find the roots of the following equation :

23,

24,
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Wﬂﬂﬁﬂﬁﬁﬁ:ﬂﬁrﬁw;

Aoy AMeefa g fivw o

-8 +2=10

If the following quadratic equation has two equal roots, then find the valuc

of k.

TR oera fIUTS TSI Yo SB1 S XN, (309 kA N1 Ay o

firra fivrs slfroifBa N& ¥U SR 0 k2 w1 ety oo

2l ek +3=10
O /A=Y

Find two consecutive positive integers, sum of whose squares is 365.

557 2RfTS (U TYQ AT BErod U A (I 365

off =i (oeT wya suam vy 202 Uik qeefa sf 3651

The first term of an AP is 5 and last term is 45 and the sum is 400. Find the

number of terms and the commion difference.

A3 SWTST AT Ay o 5, WY A5 45 ATE @I 400; Y+ T TWHF-
st &84 Fn F4)

nafl SRTET AT AYT 46 5, T 5 45 a7 SRR 400 | (95 #wg W AT

SreTar wuA e o
10

i



25 Ifaline intersects sides AB and AC of a AABC st D and E respectively and
is paraliel 10 BC, P LD AE
rove that A~ AC:

UR S5 (R AABC 3 AN W1 AC TEE W D & I feys (v I STE

CALE BC T AR, (00T w5 AD _AE
o g AB  AC
ABC fscore BC o758 Seas 1 @ o AB 9@ AC T3 &0 D o

E e o AD _AE
(3 OO WX O £ T L5 = S

26. Find the aren of the triangle formed by the points A(S, 2). Bi4, 7) and C(7. -4}

A(5.2), Bl4, 1) ure C(7, ) R ome o fagaery afr ffa =0

A(5. 2), B4, T) 9 C(7, ) Ty Fafp v+t foysia 27 Fefu 3 |

27. A chord ol a circle of rads 10 cm subtends a nght angle at the centre, Find

the area of the correspanding minor segment. {(Use m=314)

10 c& . TTHTEY 51 FUT AN TR (2GS S8 SR TR | SR ¢t
oot Ffe fdfy 300 1 (Irand - 3.14)
o RrE AT SNEH S e | W

10 % Qs AT g AT
ool g3 weor o fadn 3 LIRS 3.14 @)
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Section-=D
28 The arca of a rectangle gets reduced by 9 square umts, f s length 15
reduced by § umts and breadth 1 increased by 3 umits If we increasc the
length by 3 umts and breadth by 2 uiits the area 15 increased by 67 sgquare

uruts  Find the length and breadth of the rectangle.
.::E‘tmmu‘i't&moi:-Hrswmj_q-mqﬁwm_cmmﬁ
9 2« sas YN &Y | TS IUH UTS 3 43T TTE 1vS 2 <7 ofF 20 W 53
TN 67 ¢ 2B IS T | WIS TN TF oy S BT |

TS 225 ST NG S 249 ITN 2@ 4 3 43T 35 #91 5Y, SRS T
Q3 2T DR U 1 anee U DT L 43T o 9y 2 4FS > S0 T, oW
afe 67 a a5 {5 v ) avele ™Y o =y Rvg a0

In an equilateral tnangle. prove that three imes the square of one sidc 15
equal to four times the square of one of its altitudes.

TN B (T, 23 wuary Frwee o5 dad e Ao o oo &foq At
FRom 3= |

oo 2o @, 2&D wary freced 230 Ta T Ao foge®e 233 &'
Fofe 8T QOR WA |

The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude 1s 30° than when it is 60° Find the height of

30.

the tower.
wyee ST owrs few W v 25 wwd §1 s Safo (355 ) 60° A
foxra Ouw Tr, 333 cam 307 ©@W orte 40 TP @fe VoA 1w saETe Swet

Frc =20
23% TaeEE STIE 9 FOTEA 22 o WTE WY S 8 ot
60° R TS ;T &7 ZST 40 3R @ 1 v {rere Safo cem 30"

s s Py =
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31 Prove that the lengths of tangents drawn from an exteral point 10 2 cicle

are equal

T TN LB T fasy o gute Bar st (4r4d TRCY T4 |

AT BN (U, o1 dny oy it coon qrad 5o wrlar ~tefE o0 DT

W

Orafte sve

Prove that the panllelogram circumscnibing a circle ts a thombus,

A B (U AT A = o) WEETHE 2B 4V |

o &8 (1, 437 Tuw «fedts I AT’ aefh v

: : 3
32. Comtruct a tnangle simular 1o a given triangle ABC with its sides cqual o3
3
of the cormopending sides of the tnangle ABC (1.¢. of scale factor ry
25 =53 frym ABC 1 sys &b frge =fet ure T maee ABC
3
F:qm!ma{ﬁm;uﬂ WA (I O3 oﬂfl%l} \
29% ==3 fay® ABC ¢ =y 223 fayo afe e moon ABC frgem
3 3

BT VAR A | (AR scale factor ) o
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Section - F

3% A 20 m deep well with diameter 7 m is dug and the earth from digging 1s

evenly spread out to form a platform 22 m by 14 m. Find the height of the

. 79
plnlfﬂﬂh{ Take x = :.:.“]

20 5% oty o 7 ¥ amre a1 g e org sffufi swore e 22
R X 14 fibre comva ool awa ays a3 e | et wAa SBor Ay

L2 g 1(1':-;?—2“41]

20 e e g 7 W3 anovs 2l qou i ot fennf swue oo 22
fy w14 f wreere 28 ww (Platform) 99 s wen 1 wofe Sven fafu o

L2
[n - HIIJ
Or/afta/sren

A container, opened from the top and made up of o metal sheet, is in the
form of a frustum of a cone of height 16 ¢cm with radu of ns lower and

uppet ends as & cm and 20 ¢m respectively Find the cost of the milk which
can completely fill the container, at the rate of T 20 per hitre (Take nt = 1.14)

16 ufi Bwwma mgews sfgara Bfta angd et fR{fits qua corent w1 5
woy @F owad Gfiw amré Fw R i e 20 aefr o =S firo 20 B

ST R P omaeht o afkda faxrq wqn ofee Ffu 30 1 (n = 314 7)

s My My wrefsn ag Afits wm 2a%7 oz Ref cvten 1 wnafiz Swor
16 ofu. sz @five @y 8 ofi ax Bere woye ams 20 oxfy ) =fs feabra
mqmzumﬁmuﬁamitﬁmu-ﬁmaﬂmmm

e T wes Ay ac 1 (= 3 14 (TR)
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34 The marks obtained by 30 students of Class X of a certain school in a
Mathematics paper consisting of 100 marks are presented in table below.
Find the miean of the marks obtained by the students

Class interval

]m- 25

25 - 40

40 -

33

55 - 70|70 - 85

"85 - 100 |

Sumber of !ludrnhl; 2
2

[

| ]

7

6

6

6

@ad Ofrers saw Bsena s afle 30 T Fretl 100 AR TeR

AUITTT QYA (M1 A SRR 3¢ TR ) Tl wmm Ans 3T AT NN

Grfa 11 |

10 - 25

25 - 40

40— 355

55—?0!1{:-35

85— 100

Freridfta s

2

3

6|ﬁ

b

@ 228 Remey, «fo & 100 4933 «3ww v =2 30 99 |
«13 7Y WHY TTEL TN (0 A | FATHE =13 79E2 w21 w1

R frsm 10 35125 _ 40| 40 - 55 |55 - 70[70 - 85| 85 - 100
NTCET W 2 ‘ 3 7 | 6 6
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